
Class Exercise:

IDENTIFYING STAKEHOLDERS

PURPOSE:

To learn to identify stakeholders in a planning study.

INSTRUCTIONS:

1)
The instructor will assign you to a team and will designate you as Team A, Team B, Team C.

2)
Review the Urban Floodway Case on the following page. 

3)  
Identify the probable major stakeholders for the case using any of the methods that have been described.  Record the stakeholders in the first column on the score sheet.

4) For each stakeholder, determine – as shown below --whether this stakeholder would support, oppose, or be neutral towards the proposal contained in your team’s instructions. 



                            - 3     -2    -1      0     +1      +2        +3

5) For each stakeholder, agree on what each stakeholder’s power would be, as shown below:



      0       1       2      3


Here are some suggestions for assessing power:

· Does this stakeholder have the resources to block a decision or to make one occur?

· Is legal authority an issue, and does this stakeholder possess it?

· If wealth is an issue, how much wealth does the stakeholder have in affecting the decision?

· Even if the stakeholder is generally powerful, is this stakeholder powerful on this particular issue?

· Does this stakeholder have powerful allies or enemies?

6) For each stakeholder, agree on how important this issue will be to this stakeholder (the “salience”) for the proposal contained in your team’s instructions.



      0       1       2      3


To assess salience, consider:

· What are the social, political and economic interests of the stakeholder?

· How (how much) are these interests affected by this issue?

· How important is this issue compared with other issues this stakeholder is currently addressing?

7)
Calculate the scores for each stakeholder by multiplying across. The maximum score for any one stakeholder is either +27 or      –27. Any score of “0” means that the score for that stakeholder is “0.”

8)
Total the scores for all stakeholders, showing positive scores, zero scores, and negative scores.

9)
Create a ratio by dividing total positive scores by total negative scores.

10)  As a team, agree on whether or not it is likely that the proposed action your group evaluated could be implemented.

THE URBAN FLOODWAY CASE

Urbanity is a city of about 250,000 people. The Jerome River flows through the heart of the old downtown of Urbanity. This is a navigable river, and Urbanity was once a regional transportation center, with agricultural products brought to Urbanity for shipping downriver. However, siltation prevents modern vessels from reaching Urbanity, and over time most transportation occurs by rail or trucking.

Most of the old downtown area of Urbanity is in the 100-year floodplain. There have been two major floods in recent history: one in 2000, and one in 1987. Much of the downtown area was inundated.

The area north of the downtown is suburban in character. There are homes along the river, most of them oriented towards the view of the river. Some of these areas retain riparian vegetation, although quite a bit of this vegetation has been replaced with lawns and other garden-like planting.

The area south of the downtown was formerly warehouses, small factories, and other industrial buildings. This area has fallen on hard times, and many of the buildings are abandoned or have fallen into disuse. There are a few pockets of riparian habitat that have been reappearing since that land has been unused.

The downtown area itself is pretty run-down. One of the barriers to re-development is the periodic flooding. Many buildings have remained vacant since to 2000 flood. No one wants to invest in new businesses that could be wiped out by the next flood. The local Congressman is from Urbanity, and holds a key position in the House Budget Committee. He has sponsored the authorization of a Corps flood control study to be conducted by the Corps.

City officials have informed you that their primary interest in a project is economic development of the old downtown, as well as anything that can be done to cleanup the area south of downtown. They want to do something that draws people from the suburbs into the downtown, to restore economic vitality in the downtown area.

A number of citizens are opposed, in principle, to any kind of channelization. They would like the river in the downtown area to be a visually attractive amenity that draws people into the downtown. They support increased economic development in the downtown, but think that visual attractiveness is the key to creating a downtown that can compete with the suburban malls that ring the town. They note that many of the old historic buildings in the downtown could be very attractive if fixed up, but no one is willing to make the investment if they can be inundated at any time. 

The Urbanity River was once a major fishery for the Skwamish Puff Fish, which is listed as a threatened species. As a result, the U.S. Fish & Wildlife Service is playing an active role in your planning study. They believe that only by restoring native vegetation that produces large woody debris can they replicate the breeding conditions that made the fishery viable. They have told you upfront that under no conditions do they want “a concrete river.” They believe that protection of vegetation and habitat should be the key value. They believe the fundamental problem is one of land controls. Buildings should not have been put in the flood plain in the first place, and the solution is to remove uses that are incompatible with occasional flooding.

Team A

Proposal: Your team is evaluating stakeholders’ reactions to concrete channelization of the river through the entire downtown. Your analysis shows this will be effective in preventing flooding and will be the cheapest of the three plans.
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Team B

Proposal: Your team is evaluating a plan to buy out much of the downtown area, relocating it on the bluffs out of the flood plain. The existing buildings would be torn down, and the entire downtown area would be turned into a park and recreation area. Some commercial activities could be located in the park/recreation area, but only in temporary buildings that could be removed whenever there is a chance of flooding. This is the most expensive of the three plans being considered.
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Team C

Your team is evaluating a plan that would install dirt berms throughout much of the downtown area, with vegetation on the berms to make a green open space and provide a visually attractive area for recreation. There is one two-block area in the downtown where buildings are located so close to the river that it is impossible to use berms. In this area, you would use concrete, but it would be designed architecturally so that greenery could be planted throughout to make the area visually attractive. This alternative ranks 2nd in terms of cost.




              Issue       

                 Positive      Zero       Negative

            Stakeholders
          Position      Power     Salience     =    Scores     Scores      Scores

1.                                            x               x                x                     =

2.                                            x               x                x                     =

3.                                            x               x                x                     =

4.                                            x               x                x                     =

5.                                            x               x                x                     =

6.                                            x               x                x                     =

7.                                            x               x                x                     =

8.                                            x               x                x                     =

9.                                            x               x                x                     =

10.                                          x               x                x                     =

11.                                          x               x                x                     =

12.                                          x               x                x                     =

13.                                          x               x                x                     =

14.                                          x               x                x                     =

15.                                          x               x                x                     =

16.                                          x               x                x                     =

17.                                          x               x                x                     =

18.                                          x               x                x                     =

19.                                          x               x                x                     =

20.                                          x               x                x                     =





Class Exercise:


IDENTIFYING STAKEHOLDERS





Proposal Position





Salience





Power





TOTAL


POSITIVE SCORES





TOTAL


NEGATIVE SCORES





TOTAL


NEGATIVE SCORES





TOTAL


POSITIVE SCORES





TOTAL


NEGATIVE SCORES





TOTAL


POSITIVE SCORES





RATIO:





RATIO:





RATIO:








PAGE  
3

